Selbsttest Bruchrechnung 6

Aufgaben
5 5N\ _ =3
-8 —12/'-16
a) &

15t 710>"1_3

_11 011 6 | -13N 14
b) 1279 ~—7tT11 /5

(3 85 _8_ 351
-10 " 16 9 -16 4

_1 10 —5 =10
14 “11 76 /Ti3

C — _
gk 7= ==

11,4, 5 -5\ 11
3 '3 3 +14 " 16/ 13
d) (——L 13 , 9~ -1

713+72+ —7 T16/°713

14 3  -15 , -1 -11
‘<‘—9_2Jr 14t s/ s

€) L2 -15_8~ 14
-9 - 4 9 11
5 13 11 1
5 S+ +% ) ar
-7 -5 -11 3
(S-To-Te)0%

6
9) 7 3, 14 8

=1 713_‘_ -8 \.=6
8 15 " -13 11

(—3 —9 7)

h)

-5
) <13+714 6
(—5+%) =

I ey s



Selbsttest Bruchrechnung 6

Lésungen
5 5\ -3
-8 -12./°-16

a) L:
?5+710>"1_3

y St
_1 10 75 =10
—14 ~ —11 6 /13 -

e ey

g b
-5+ + 3 141

e (2 15 8

f) (‘%"’%4'%)% L-
7 - _ 3 -
(G-T-"er%

§ Chd-di-a
R
T as 1‘2

h) (= —3 —9 7) L:

i (13’214 g L -
5+
-5 5 -8

: Tetis )T ]

), (16 1253 L:
3 —13./° 16

39
128

12998
539

16

14157

79937
16911

41261
72030

3268
52325

17
9

2500
5733

52

1013614
117

61
|

~ 183

1



